FgArea: [0 ]
NC11 P3-2
2025-04-16 (Day 18)




T
15.0

300

200

100

17.5

12.5

10.0

5.0 7.5

2.5



=
=>
T T T T T
(=] (=] o o (=] o
o] o o o o
N N — —

12.5 15.0 17.5

10.0

5.0 7.5

2.5



1 0IR

——

0

1.

0.8 A

0.6 -

0.4 A

0.2 A

0.0

12.5 15.0 17.5

10.0

5.0 7.5

2.5



450 -

o 1 VI vs Du

400 A

350

300

250

200

150

100 ‘

T T T T T T T
200 300 400 500 600 700 800
DU



FR

—o—
®

0. 600 ~
0. 575 A
0. 550 A
0. 525 ~
0. 500 ~
0. 475 ~
0. 450 ~
0. 425 ~



1 setVI

—o—
®

18

16

12

100
80 -
60 -
40 -



1 (fgArea = NA)

5000 .
—@— ECI*10% :
—®— ECO :
1
4000 4 :
1
1
1
1
1
3000 - !
1
1
1
1
1
2000 - :
1
1
1
1
1
1000 - i
1
1
1
T T T T T T T
2.5 5.0 7.5 10.0 12.5 15.0 17.5




—&— PHI*10%

754 —®— VPHO

7.0 1
6.5 1

6.0

5.9

12.5 15.0 17.5

10.0

7.5

5.0

2.5



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500

3000

2500

| —¢—  EcFzExp
| —>¢— ECdef
—>— water_ec

2000

1500

1000

-—-

Warning: co

[’ EcFgro’,

"EcPltng

'] is missing

500

25

50

100

125

2 % 2 0 X 2 X X 2

175




Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

—o— dFVI
dFVo

day

12

16

2400

2300 -

2200

2100 -

2000

1900 ~

1800

K= — — W — — — B — — OB

-»%- fz stock_ec

- ling: col ['ECC’] is missing
36 0

2.5 5.0

7.5 10.0
day

12.5

15.0

17.5

6.6 7

6.4

6.2

6.0

5.8

9.6 7

—>—  PHB*10%

Warning: col ['PHC ] is missing

2.5 5.0

7.5 10.0
day

12.5

15.0

17.5

800 -

600 -

400 ~

200

—&— DUC

day

12

16

500 ~

400 ~

300 ~

200 -

100

—&— FRV

day

12

16

0. 64

0. 62

0. 60 -

0. 58 -

0. 56

—»

—&— FRC

day

12

16




['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

lopt

R

™~

L VWUUV /\\W

\'%

450

400

350

300

250

200

175

150

125

100

75

50

25

—  Topt

—— RH
- RHopt

— ETcl

optETcl

LAI

optEtRate

o o [fe] {9}
~ ~ I ~ ~
\ - - - -
) L
‘ o o o o >
s} rs} s Irss —
- - - -
_—
0 0 \M 1%} 1%
N N 2 2
o = W\ - o W
=) =) (=} L\.\ =}
S S S S
- - - J -

A/

f 3 8 AV 3 / N W
/w /MW //// WV
L N N N <
> — 2 Nw 2 J/v 8 // 8
ﬂv /MW /
........... “umummmmmw-- IO e =~ S S IO U R US| | OO O N 1--\-
< s \ N
= | d o ) 3

175

150

125

100

75

50



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

250 ' -
—@— setVI_ETcl
A —0— setVl_fgRec
200 —@— setVI W |
* / \ —@— slSetVI
150

TN

0 5 10 15 20 25




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

4500
—&— ECI
4000 -
3500
3000 -
2500

2000 -

1500 +
1000 4 Warning: col ["ECC’, 'FVIEC'] is missing




Plot [['FVOEC:r-o’, 'ECO:g—o’]]

3000

2750

2500

2250

2000 -

1750

1500 -

Warning: col ['FVOEC'] is missing

12

14




Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

—@— PHI

Warning: col ['PHC’, 'FVIPH ] is missing

10

12

14

16




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: co

missing

—— PHO

10




Trend plot forP3-2_0

minFVI
minFVO

Warning: col ['minFVlraw , 'minFVOraw’ ] is missing

N~
o
I

0. 45 ] 1 1 1 1 1 1 1
(] ETcAlraw

—— ETcAl

0. 40 - —@— ETcA

0. 35 A

0. 30 -

0.25 A

Warning: col [ ETcA2raw®, 'EJCA2’'] is missing ([

0.8 -

0.6 1

0.4 -

0.2 ~
Warning: col [ ETcA2raw’, 'ETcA2avg’, 'ETcA2'] missing

0.0

3000 1 —@— ECopt

Warning: col ["ECC’'] is missing

[
—o— ECI :
—@— ECO 1
2500
- —o—§
\ :
2000 A i
1
1
1
1500 |
1
1
1
1
1000 - I
1
1
1

Warning: col ['PH is missing

31.5 1 —@— WCperM
31.0 A

30. 5

30.0 -l—.—.—.—.—.—.+.—.—.—.—.+.—.—.—.—¢—.—.+H—.—.—.+.—.—.—.—.+.—.—H

29.5

29.0
Warning: col ['WCperMraw', 'WCperMavg'] is missing

28.5

0.50 —0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0— 00—

0. 45

—@®— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

0.30 -D—.—H—.—.—.—.—.—H—.+.—.—.—.—.—+—.—.—.—H—.—.—.—H—.—.—.—.—H—.+‘

1
1
0. 25 :
1
1

1

1

1

1

1

1

1

0. 40 + I
1

1

1

0. 35 A I
1

1

0.20 p—o—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—

T S e e S S IR
|
1
28 - :
1
|
|
4 1
26 |
24

22 -

20 —0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—{

: ad jFVOR
0.04 :
|
|
1
0.02 :
I
|
1
0.00 T
|
1
1
-0. 02 ~ :
|
|
|
0. 04 - Warning: col ["adjFVIRraw", | adjFVIR", "adjFVORraw' | is missing:
1
1
1 1 1 r 1 1 1 1
0.650 7 ® o o o © © ¢ 0 0 0 0 06 060 6 © 0 00 06 0 0 0 0006060 06 0 0 0 o ¢
0. 625 ~
0. 600
0. 575 A  J FRA
([ ] FRC
0. 550 A [ FRraw
— R
0. 525 A
0. 500 ~
0. 475 -
0. 450 -

100 -
o postFgEtraw

—@— postFgEtavg
—@— postFgEt




FgDaily




P3-2_0

b4

4

A
//
. k//\/ N\ /
— /A\'\ A B
VAVt T / \
. / \ / ‘/\
\ /S ,
N RN L)
N = . AT
/N / N\ / i
\ N -
: N
- ?

TTTTT
EEEEE




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ETcI ETcIdef ETcP ETcPT ETC|IS ESo EToI ETbal pR pVPD PPFD

1.00

0.75

0.50

-0.25

-0.00

--0.25

-0.50

-0.75



° ° ° °
200 - . ° ® ‘. ° i O.
™ ° ° ° ©
™
150 4 le ° ° ° _ ® o
(&)
o
° o o ° LX)
100 4 1 ° o ® 7 ()
° o o ° ® e ° ) ®
c ° ° o® %
50 - ®e e o® i o0 e °
° ° ° L4
° o ° ° o ™ ®®
1600 + E ° ° ° B °
° ® 9 ° o
1400 1 N ® ° 1 ® -
° o0 o0 ° ° ° ° geo
® o o ° o ® ° 'Y L4
S 1200 4 E [ ) [ ) E ®
o ™ ° P
1000 + 4 ® 4 Py
° [ o ©® o9
800 - B
° ° ° °
600 - ° [ ) ° {e
° ° ° ™ °
22 R
o® ® o o © LY
. ‘ . o ™ o °
4 e ° ° . °
(Y o [ ] ) [ ] o @)
®ee o ® e © . o ®
18 1 ° ° 1 e °
- ° ° °
1644 @ o o ° g d ° 7 o %
14 ° ° i °
™ L4 ° ™
™ L4 ° L4 ° ° ®
12 - T T T T T T T T T T B T T
e ®e °
70 1 ° o ° ° ° @ 1 e °
65 ° ° § °
° ° °
°
60 - B
o °o® ° o®
I
& 55 ° ° ° . °
™ ° e ° e ™ e
50 B
° °
5] ©® ™ () ° ° i ° °
o ) ° )
¢ o. L4 0. ¢ ° ° ¢ o ° o o
40 i
° ° ° °
T T T T T T T T T T T T T
™ ™ ° °
250 - B
200 A -
| ° ™ ° ° ° ° ° i ° °
Z 150 ° ° ° ° °
100 4 % ° ° ® e ™ ) ° ® ° ® . ® Te o e )
° ™ ° ° °
50 4 ° ° 1 °
e o® ° °
0 - T T T T T T T T T T T T T T T T T
™ ° °
- e
350 o’ ° o S ® o °®, % o °
3254 ¢ % - % ¢ o ° e ° e
. o °° o e o ° o o ° ° o
300 - d o
_ ° ° o o e e ° ° ° °
2754 @ ° ° °
950 - ° ™ °
i ° ° ° ° °
225 ° ° °
200 ° ® ° ® ° °
T T T T T T T T T T T T T T T T T T T
50 100 150 200 750 1000 1250 1500 12.5 15.0 17.5 20.0 22.5 40 50 60 70 100 200 200 300 350
ETcl ETol T RH VN |



800 @ obs
Fit
600
400 1
o
200
A
wll
o @
0 50 100 150
baiA baiB
0.4619 ~0.0015
1.0
0.8 1
0.6
0.4 1
0.2 1
00 T T T T
00 02 04 06 08 1

0

obs

250 -

200 ~

150

100 -

50 A

Fit vs obs: a=0.9, b=2.85

r=0. 54

1.0

Fit

200

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2 0.4 0.6

0.8

1.

0



100

7:30
80

8:30
- 60

£§ 10:00
- 40

11:55
20

13:40
0

&




P3-2

Bfig) | JEBATK (FD) | ERE (A | KR R

07:30 96 50.0 5 FiHAe07:30 (KRE{EREE)
08:30 96 50. 0 5 FiH#Ae08:30 (KRF{ERLEE)
10:00 96 50. 0 & F1#B@10:00 (RFEREE)
11:55 96 50. 0 & FnAe11:55 (REAERZE
13:40 96 50.0 & FiHAe13:40 (KRS
Bit| 480.0 (5%) 250.0 32 KEC: 1980.0, PH: 6.0

BE X i# B ECEL B Hh k. ‘
FEREBIEC (2510.0) HiZFEEC (2000.0) REK K, HHRE
BER LI HEREC/PHESLK, FIRERNNBEEIRSR



FRV (ml plant-1)

ET (ml/hr/plant)

P3-2_0, Day=18 (2025-04-16)

0.6 7 35

0.4 177} 200 =

0.2 1 - 100 &
0 00 00

TargetEC=2300. 0,  TargetSetEC=1980. 0

TargetPH=6. 5, TargetSetPH=6.0

0.0

=

1
1
I
100 1 ByWoFv @D1p 02:37: ET=177 Fg=250.0 Ro=39.0
|
50 A i

|

1.0 L

0sl P | B | W1 | | | m |m | m |m |m |m |m |m |m |0 | m |m |m |m | @ | @@ | @@

0.6 1

0.4+

0.2~

800 1
600
400

200 -

0 \ A A Warhing:,‘:ol [Al o

, 'PPFD_obs’] is missing

o obs'] is missing

80 A

60

40 - Warning: lcol ["RH obs’, ' RHo obs"] is miss]

0.0 0.2 0.4 0.6 0.8 1.0

V1, VG8ERV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET - 400

280 - 300

T
S
o
o

T
w
o
o

3
cumET (ml/plant)

T
N
o

T
—_
o
o



hour

10:15

11:45

13:05

14:20

100




P3-2

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

07:10 120 50. 0 Z| 1BRige07:10 Fzh (REERESE)
08:10 120 50.0 Z| Ri%e08:10 Fz (KREFERESE)
10:15 120 50. 0 = Rig@10:15 Fzh (RAEESE)
11:45 120 50.0 S {Rige11:45 F3 (REAERSE)
13:05 120 50.0 E| {Rig013:05 Fzh (REERSE)
14:20 120 50. 0 E BRige14:20 Fz1 CGRAERESE)
Bit| 720.0 (6X%) 300.0 32 KEC: 1881.0, PH: 6.0

HEARHERESFEEART (77.0 : 60.0), AaERF—REXAHS
LORGEBRETHC (120) 548 (100. 0) N FF, AIAEH T % 1@ [E)#EiRS % XER]
2RIA\ L FRGERE60. 0 ml.

BE X i# B ECE 1R k.

BEFREBIEC (2422.0) 5iZEEC (2000.0) HEILKA, BFHE
REREBT I HEREC/PH{E R K, FIREZINIRELR R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

100

1.

0.

P3-2_0, Day=17 (2025-04-15)

40 -

20 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 385

00
47
196
90 11
I0 I Warning: lcol [FVI',| "FVO’'] missing 0

~
(&)}
1 =

a1
o
1

N
[$)]
1

Vi
FRV

0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0, TargetSetEC=1881.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

0

]
1004 Bylnit @18 02:37: ET=242 Fg=300.0 Ro=56.0

~
(S}
1

a1
o
1

N
(S
1

[=2]
(=}
o

=T

T
S
o
o

T
N
o
o

cumET (ml/plant)

P’
0 1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 8o

- E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
100 1 EZ 5 5 i i 5 5 i i 5 G A B 5 G A B 5 G A B 5 G A

75 4 ByEt @17 18:40: ET=347 Fg=310.0 Ro=nan
50

25 A

*—o0—0—0—0

p——@ L 4 \ 4 \ 4 —@

T
S
o
o

T
N
o
o

cumET (ml/plant)

— PN .—eﬂ—r’-/ I I B ———
6 7

0 1 2 3 4 5 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 8o

1001/ [BF |5 [ BB [ BE | Rs [ | ¥ | % [BF |5 | R [BE | 5 | B | BE | fs [ B | BE |’ [ |%=| BA [ MA

1.
0.8
0.6
0.4+
0.2~

0.0
1500 4 —_—

500 -

~
(S}
1

a1
o
1

N
(S
1

]
ByWoFv @DlP 02:37: ET=247 Fg=300.0 Ro=48.0
]

T
S
o
o

cumET (ml/plant)

0

BE | B | BR f5 5

1000 ~

[ ] | _obs
—@— PPFD obs

hour

T
S
o
o

T
w
o
o

T
N
o
o

T
—_
o
o

0

0

T
N
o
o

FRV (ml d-1)



30.

29.

29.

29,

29.

29.

28.

T
500

760 860
m=810,n FV0=0

T
600

T
900

——

M_E

T
810

8%5 8é0
m=630,n FV0=0

21 -

20 -

19

18 1

17

16

——

M_W

630

635 640

217.

26.

26.

26.

26.

25.

25.

30.0 A

29.8 -

29.6

29. 4 -

29. 2 -

29.0 A

m=510, FV0=0

00 A

75 A

50 -

25 A

00 -

75 A

50

——

M_E

T
510

5%5 5&0
m=870,n FV0=0

——

M_E

870

8%5 8é0
m=720,n FV0=0

20 A

19 4

18 4

17 4

16 1

——

M_W

720

725 730

m=630, FV0=0

29. 00 A

28.75

28. 50

28. 25 A

28. 00 ~

27.75

630

635 640

22 A

20 A

18 1

16 1

MW

T
600

760 860
m=810,n FV0=0

T
900

19 +

18

17 4

16 1

——

M_Ww

810

815 820

m=720, FV0=0

30.0 A

29. 8 A

29.6 -

29. 4 4

29. 2 -

29.0 -

——

M_E

720

7é5 750
m=510,m FV0=0

22 A

20

18 1

16

——

M_W

510

5%5 5é0
m=870,n FV0=0

20 A

19 +

18

17 4

——

M_W

870

875 880




hour

10:35

12:15

13:45

100

80

60

40

20



P3-2

BYE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS R

09:35 90 50.0 FA| {Ri%@09:35 Fzi (RKAMEEE)
10:35 90 50.0 FA| 1BRi%@10:35 F3h (KRAEREE)
12:15 90 50. 0 FE| 1Ri&@12:15 F (REAERSE)
13:45 90 50.0 FA| 1Ri%@13:45 F51 (REAEREE)
2i3t| 360.0 (4%) 200. 0 32 UHKEC: 2000.0, PH: 6.0

HERRHERESFHAEART (58.0 : 45.0), AaERTF—w@EXAHS
LOREBIRTC (90) 5T A (100. 0) A~ FF, AeEH T % AREIERS EXIER
BRI\ L FRIERE45. 0 ml.

#H[ERECE (2248.0 vs 2935.0) RS



P3-2_0, Day=16 (2025-04-14)

VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1891 200
40 -
- 150
11608 116
100 90 90F | 100
20 -
- 50
10 Warning: lcol ['FVI',| "FVO'] missing 0
0 = L0
G — ME fg3
L
© ||
E_ |
: | |
- s s
: | |
1.0 26
4
0. 8 A
0.6
0.4
0.2+
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6
0.4
0.2+
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6
0.4
0.2+
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
—~ 100 By lnit @D1$ 02:37: ET=187 Fg=200.0 Ro=38.0 ¢ 400
= I
= 75+ : - 300
~
£ ' —o—&—9©
S 50 - | &—eo e e o 200
£
~—~ I
— 25 . - 100
. o —& 10— & 0 & ¥\
0 PS ol a P P S S — — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
100 FH [/\@| ®3 | PA | B | m | ™ | = | ™ | @™ | B3 | P3| PA | PA | HE | BE | e | R | A& | 5 | & | A& | BE | R& [ 400
c 1
%_ 75 4 ByEt @D16 18:39: ET=257 Fg=92.0 Ro=nan : L 300
~
< 50- - 200
E
= 25 - - 100
p———& & \ 4
T T 72713 0
S 100 [/N\& | FA | FA | PA | BB |4 | BA | A | A | FA | FA | PA | BB |- |35 |35 BB |25 |55 50 55| B | BB | 400
c 1
%_ 75 4 ByWoFv @Dlp 02:37: ET=189 Fg=200.0 Ro=40.0 L 300
~
< - 200
E
[ _100
(NN
0
0.6
0.4
0.2+
0.0
—_— 4
1500 [ ) | _obs
—@— PPFD obs
1000 ~

500 A

40 ~

20

RH
[ ] RH_obs
(] RHo_obs

2 w‘.’~ e v f

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



19.

19.

18.

18.

17.

17.

M_E

T
650 700

T T T T
750 800 850 900

m=660,m FV0=0

./.

—— MW

.—.\._.

T T
660.0 662.5

T T T
665.0 667.5 670.0 67
m

2.5

31.

31.

31.

31.

30.

30.

.15 1

.50

.25 4

.00 A

.75

.90 A

17.

m=660, FV0=0

75 A

50

25 A

00 -

75 A

50

—e— ME

N’

./.

T T T T T T
660.0 662.5 665.0 667.5 670.0 672.

m=870,m FV0=0

25 -

—— MW

.
See

T T T T T
872.5 875.0 877.5 880.0 882.5
m

5

m=870, FV0=0

30. 5 @ /—0 .—0—\
30. 4

30. 3 -

30. 2 -

30. 1

30.0 1@ M_E

T T T T T
872.5 875.0 877.5 880.0 882.5

m

i‘ —— MW
19 -
18 -
17 { B
16 -
T T T T T T
650 700 750 800 850 900

m







P3-2

BfE] | FEBRETC (F)) | ERE (EH/HK) | XK R
09:35 90 50.0 PH| {Ri%@09:35 Fzh (KAEREHE)
=23 90.0 (13%) 50. 0 3ZGHIKEC: 2000.0, PH: 6.0

FEREHLEBRE STEIEATF (58.0 :

ZRIASPRIERE45. 0 ml.
#[EKECE (2205.0 vs 2870.0) RS

45.0), AIREHT—H% X155
EORGERRETIC (90) S5FEA (100. 0) IN7F, FIREH T % iR ERS % X ER




P3-2_0, Day=15 (2025-04-13)

VI, VO2ERV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET

40 1130 - 150 .
0| L
g 100 Hgg 2L 100 °
E
20
38 L 50 &
I Warning: lcol ['FVI',| "FVO'] missing 10
0 = - 84
(v — ME P
T
.é B 32
ey b
— =
= L 30
>
&
1. 28
n
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
1 I . . = = = u
’42100- Bylnit @D1:8 02:37: ET=116 [Fg=100.0 Ro=3.0 _200,_'.&’\
o 1 =
o 1 o
N I >
< 1 E
— 50 + I
E 1 ]
1 [S
[ >
w —— @ : 4
S T
© — — — ©
E ByEt @D15 18:39: ET=127 Fg=88. 0 Ro=nan ! o L 150 E‘
£ G
= 50 1 @ © - 100 —
~ (RN
— L 50 5
w b © o—& —0— °
0 o Py o Py PN 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E 100 - FH BH Bﬂl FH FH BH A FH FH BH [A FH FH BH [A FH FH BH [A FH B [/NE|NE|NEL 200 /_'-&,\
(—:_ ByWoFv @D1:8 02:37: ET=102 |[Fg=50.0 Ro=2.0 L 150 %_
o I —o—o—0—@ >
< 1 E
> 50 - 1 - 100
E 1 ]
= — o 6o e—eo—e—o [50 3
1
1.0 PN ol o o P N 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - FH BH A FH FH BH A FH FH BH [A FH FH BH [A FH FH BH [A FH BH | hNE|NF|NE
0.6 -
0.4
0.2 A
0.0
1500 - — | t
[ ] | _obs
1000 —@— PPFD_obs

80 A

60 -

o

J —— RH
o RH_obs
o

RHo obs

& ® VP




31.5 4

31.0 A

30. 5

30.0

29.5 A

29.0

M_E

T
600

T T
650 700

m=570,m FV0=0

T
750

22 -

21 A

20 -

19 +

——

M_W

570

T
575 580

m=570, FV0=0

30. 2 A

30.0 A

29. 8 A

29.6

29. 4 -

29.2 A

——

M_E

T
570

T T
575 580

m=720,m FV0=0

22

21 -

20 ~

19 -

——

MW

T
720

T
725 730

m=720, FV0=0

30. 25 A

30. 00 A

29. 75 A

29. 50 A

29. 25 A

29. 00 ~

——

M_E

720

T
725 730

23
22 -
21 -
20 -
19 +
-o— MW
T T T T T
550 600 650 700 750

m







P3-2

BfE] | FEBRETC (F)) | ERE (EH/HK) | XK R
09:15 120 50.0 FH| {Ri%@09:15 Fzh (KAERHE)
=21+ 120.0 (13%) 50. 0 3ZGHIKEC: 2000.0, PH: 6.0

FEREHLEBRE STEERT (77.0 :

ZRIASEPRIERES9. 0 ml.
#EKECE (2215.0 vs 2905.0) RS

59.0), AIREAT—@E XAE5)
EORGEBIRTC (120) 5748 (102. 0) A FF, AIeEH T 5% @R #EiRS %2 XiER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=14 (2025-04-12)

40 -

20 A

100 A

75 1

50 -

25 A

1.0

V1, VE%BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
230

154
111 130 118
70 75
I Warning: lcol [FVI',| "FVO’'] missing 3I8 I

T T
N w
o o
o o

T
—_
o
o

T =
w [(~)]
- N

NN]
130 2

- 29

28

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0, | TargetSetEC=2000. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

100 -

50 -

]
Bylnit @D18 02:38: ET=141 Fg=100.0 Ro=14.0

+Ho— & —0—

Y~ S ->Y —

4 300

- 200

- 100

0 3 | 4

100 -

50 -

=5 L SR

il o
bl

I
W RS
] P

1 6 7 9 16
S 0 I I T T I N R R R R R R R R

ByEt @D14 18:38: ET=95 Fg=118. 0 Ro=nan

®0
®*$
N

- 200

- 100

_—’T\—_
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 1 19 20 21 22 23

100 -

50 -

| 58 | 38 [F=|EFx(25|(%=|%=| B | B8 | BB | BH | B4 | BH [ BA [ BA [ BA [ BA | BA | BA | BA | BH | B | A

]
ByWoFv @D1P 02:38: ET=75 Fg=50.0 Ro=0

- 200

- 100

1.0

0.8

0.6

0.4+

0.2~

1

1

i

1

I

! N —

2 [ 3] 4[5 [ 6 [ 7 [ 8o Jiwo[tn[i12]1w[14]15]16 ] 17 ] 18] 1920721 227 23
(2|52 |25 (255 | W [ A | BB [ P [ BA | BA [ FH | BA | BA [ FH | BA | BA [ FH | BA | PR | PA

1
R

1808 ;

750 -
500 A

250 -

—_—
(] | _obs
—@— PPFD obs

10

80

o T obs
o To_obs

—— RH o

604 @ RH_obs

40 ~

(] RHo_obs

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



T
600

T T T
650 700 750

550
m=570,m FV0=0
- MW

23 A
22 A
21 A
20 A
19

T T T

570 575 580

m=570, FV0=0

30. 6

30. 4 A

30. 2 -

30.0 A

29. 8 A

29.6 -

——

M_E

570

T T
975 580

m=720,m FV0=0

24

23 A

22 A

21 -

20

——

M_Ww

720

T
725 730

m=720, FV0=0

30. 6

30. 4

30. 2 -

30.0

——

M_E

720

T
725 730

24 4 —o—

23 A

22 A

21 -

20 ~

19 +

M_W

T
550

T
600

T
650

m

T
700

T
750




